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If momentum (P), area (A) and time (T) are
taken to be the fundamental quantities then

the dimensional formula for energy is :
[FEAT~4
[PA-IT 2]
.[PAIET 1]

[phar—1]

Ffg | (P), &% (A) 3T 999 (T) F Ja

SIS HMA W9 ol Sl 1 ToAm 2
[P2AT 2]
[PA-IT 2
[pakr1]
[phaar1]
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The displacement time graph of a particle
executing S.H.M. is given in figure : (sketch
is schematic and not to scale)

displacement

Which of the following statements is/are
true for this motion ?

(A) The force is zeroat t= L

(B) The acceleration is maximum att=T
(C) The speed is maximum at t = }

(D) The P.E. is equal to K.E. of the

oscillation at t = I
(A), (B) and (D)
(A) and (D)
(A), (B) and (C)

(B), (C) and (D)
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A small point mass carrying some positive
charge on it, is released from the edge of a
table. There is a uniform electric field in
this region in the horizontal direction.
Which of the following options then
correctly describe the trajectory of the
mass ? (Curves are drawn schematically

and are not to scale).

— s F
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Two uniform circular discs are rotating
independently in the same direction
around their common axis passing through
their centres. The moment of inertia and
angular velocity of the first disc are
0.1kg-m?and 10 rad s ~ ! respectively while
those for the second one are 0.2 kg- m? and
5rad s~1 respectively. At some instant
they get stuck together and start rotating
as a single system about their common axis
with some angular speed. The Kinetic

energy of the combined system is :

T UHTHM AR (25 AT IvaiTe 361 o
5 37 1 | BIt Wl 8, T U & faun H
= ¥ Y 9 ® ¥ Ueel femE w1 aed
AUl F FIVTF I FAM: 0.1 kg-m? R
10 rad s~ 1 ¥ 91 g5 femw #1 <o syt
T FIUAF 47 FHIM: 0.2 kg-m? AT
S5rads T%lfmﬁwmfiﬁiﬁwwﬁ
e STl ® 2R o9 U= T 1 9ifa s
TS 319 T HHA HI0E 99 THA
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Options :

40503639003.

The height “h" at which the weight of a
body will be the same as that at the same
depth ‘h” from the surface of the earth is
(Radius of the earth is R and effect of the

rotation of the earth is neglected) :

R

2

ER—R

2

JER-TF
2

B
2
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When the temperature of a metal wire is
increased from 0°C to 10°C, its length
increases by 0.02%. The percentage change
in its mass density will be closest to :

23

0.008

0.8

0.06
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TE UF 91 H =91 aR @ 0°C 9 10°C
T HRrdl S & A THEl o 0.02% 9%
ST & | 59 SR 5HE S H e arel giaed
Tead #1 9 T 5 9 feras fageam g2

23
0.008
0.8

0.06

A capillary tube made of glass of
radius (.15 mm is dipped vertically in a beaker
filled with methylene iodide (surface
tension =0.05 Nm ~ !, density = 667 kg m ~3)
which rises to height h in the tube. It is
observed that the two tangents drawn from
liquid-glass interfaces (from opp. sides of the
capillary) make an angle of 60" with one
another. Then h is close to (g=10 ms~2).

0172 m
0.137 m
0.087 m

0.049 m
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=21 0.15 mm T U= 1= ¥ 51 FHTer =
HgEa AAEES (T8 T E=0.05 Nm™ 1,
TIE=667 kg m ~>) H 9L UH FHL H Hel
(Seater fagn ) garn = g o 72 59 59y
h 4TS G 9 91 & | 59 W 98 <@l Wil @
for =19 3T g9 #1 S=@de W afe faudE
feramaii ¥ it TEn Wi < 9 9 uE g g
60° FMFM A &l T h MAA A= F 7
fFaF fFe 8 7 (g=10 ms —2).

0172 m
0.137 m

0.087 m

0.049 m

A heat engine is involved with exchange
of heatof 1915], —40], +125] and —Q)J,
during one cycle achieving an efficiency of
50.0%. The value of Qis:

407
400
640 ]

980 ]
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50.0% TeTal &1 Ush S=a1 1915 ], —40 J,
+125] 9 —QJ 1 F1 YeH US 9F H Fidl
T T R E QM AR T

40]
4007
640 ]

980 |

Anideal gasin a closed container is slowly
heated. Asits temperature increases, which

of the following statements are true ?

(A) the mean free path of the molecules

decreases.

(B) the mean collision time between the

molecules decreases.

(C) the mean free path remains

mehanged.

(D) the mean collision time remains

unchanged.

(A) and (B)

(A) and (D)
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40503639025, (B)and (C)

(C) and (D)

U o A0 § W e T H - T

o ST B | S-S S5 AT9HE =@l § dl

frefefag w94 § 9 FH-F4 9 F99 94

& ?

(A) T % =i % FEd g 99 H AE
T B

(B) T\ F 1A & STEd <HUH F °H9G H
A HEal 2

(C) 7| F st F f9d 9o 99 1 94
T e 2

(D) 719 F =703 % =T9d 20 F T F
TH & agad B

(A) 9 (B)
(A) = (D)
(B) 5(O)

(© = (D)

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

www.FirstRanker.com

A charge Q is distributed over two
concentric conducting thin spherical shells
radiir and R (R > r). If the surface charge
densities on the two shells are equal, the
electric potential at the common centre
is :

/7N
( I"/l;fl '
I'., S —:"(."

! |
. i

N N

1 (2R+71)

Q
dwey (R?2 + r?)

1 (R+71)
dwep 2AR% +r

1]Q

1 (R+2r)Q
dmeg 2(R? + r?)

1 (R+7

Q
drey (R? + r2)

AW Q T UHF=E YATETah Tael et d Ha=
e W T WFR 521 g3 & TR S Fad W
AT T T2 A9 T 90 2| Fa H
= r AR (R > 1) T WA= F5 W
%ﬁ“ﬁlﬁ‘ﬂ:
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40503639027, *7€0 (RT +17)
1 (R+1)
dren MWR2 2 o
Teg 2(R® +17)
1 (R+2rQ
dmey 2(R? + 1?)
1 (R + 1) o

dwey (R? 4+ r?)

A 10 wF capacitor is fully charged to a
potential difference of 50V. After removing
the source voltage it is connected to an
uncharged capacitor in parallel. Now the
potential difference across them becomes
20 V. The capacitance of the second

capacimr ig *
15 wF
30 uF

20 pF

10 uF
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TF 10 wF 9 |l #5491 F &+ 50 V &+
fayarm 9 SiEH T4 T A= U
&1 =@ Y dieed % B 9 g2E UF gH
1 9 qred HeivA ¥ wire e s 21 afe
o9 Ay | favarm 20 V@ 9 o g
Hunfest =t i ©

15 uF
30 wF
20 pF

10 uF

The figure shows a region of length ‘I’ with
a uniform magnetic fieldof 0.3 Tinitanda
proton entering the region with velocity
4x10° ms~ ! making an angle 60° with the
field. If the proton completes 10 revolution
by the time it cross the region shown, ‘I’ is
close to (mass of proton=1.67 x 10 27 kg,
charge of the proton=1.6 x10 it 5

044 m
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40503639037, 0.22 m

011 m

fasr H 7 o W U A femmEn TR
Sy 0.3 T #1 U% UHaHE =519 87 T
TH &S H UH WM 4x10° ms ! fg |
TEAFE 95 W 60° FIU A BU TS FA S|
(afe 59 & I 9N 3 dF 912 10 9ERam
T T 2, 911 AE e F T e
§?

(WM 1 F=99H =1.67 10~ 7 kg

e[ W 3Ew=1.6 x1019 C)

044 m

0.22m

011 m

www.FirstRanker.com



:l », FirstRanker.com

Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

A wire carrying current I is bent in the
shape ABCDEFA as shown, where
rectangle ABCDA and ADEFA are
perpendicular to each other. If the sides of
the rectangles are of lengths a and b, then
the magnitude and direction of magnetic
moment of the loop ABCDEFA is :

AL
. jfﬁ_ﬁ
F—< 4l
e C
T D sy
sl e
X A a

2 abl, along,

&ﬂl| — P
S| ]

N s
SRR

-

re I
S

abl, along [%

L+

2 abl, alon
W,

ﬁ| o
—

i
V2.

ﬁﬂ|\—-.. >

abl, along [
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S fr o=t o fommn T €, uw A, fomd
fae@ o 1 9% @ %, ¥ ABCDEFA 3&fa
T T €1 $9H ABCDA @41 ADEFA <1
AMd € Sl UF UL W oEaq &1 9fg g
HTAI %1 3TN a x b 81 A1 #AEHG ABCDEFA
o A AT 1 ufEm 9 fawm 2

AL

An inductance coil has a reactance of
100 €2. When an AC signal of frequency
1000 Hz is applied to the coil, the applied
voltage leads the current by 45°. The self-

mduc@ance ol Oie coil 1s ¢
www.FirstRanker.com
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40503639043, 111071 H
1.1x10-2H
55x10 > H
6.7x10~7 H

s YTahed FHEall i HIq=Td (reactance) &5l
100 Q &1 59 39 1000 Hz #1914 2 U Feat
ST (AC) F &id 9 SiTel 90 & o o T
Aleedl SHH ded aell 9 | 45° S0 W@l g
@EFﬁ F HIEE (self-inductance) =1 HIF

T
11x10"'H

11x10-2H
55x10°°H

6.7x10""H
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In a plane electromagnetic wave, the

directions of electric field and magnetic

M, M,

field are represented by k and 27 — 2 Jr '

respectivel}r. What is the unit vector a]c-ng
direction of pmpagation of the wawve.

)

=i+ )

TF HHaA faga-gEsd @ | f9ga 9 9
T & faend #h: k SR 24 - 2

F1 AR T T F T Fi fom H 5 I
T

=i+ 1)
=i +7)

=i +2j)
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1 A A
TeN2i £ ]
40503639050. V5 &

In a Young's double slit experiment,
16 fringes are observed in a certain segment
of the screen when light of wavelength
700 nm is used. If the wavelength of light
is changed to 400 nm, the number of fringes
observed in the same segment of the screen
would be :

18
24

28

30

47 % Tl wam § 54 700 nm TS F
T H Us F UF 90 H F949 9t Re @
A1 16 2| A W19 1 907224 400 nm F
fam = &1 92 F 3 9 § 599 el i
Eﬁm'@l‘ﬁ

18

24

28 www.FirstRanker.com
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40503639054, 30

A particle is moving 5 times as fast as an
electron. The ratio of the de-Broglie
wavelength of the particle to that of the
electron is 1.878 x 10 ~*. The mass of the

particle is close to :

9.1x10 3 kg
9.7x10-28 kg
12x10~2 kg

48x10-% kg

TSt | =eTd 8¢ UF U Hl A T aHH
T | 5 T SAE &1 w0 & S-sre
WMo 3R T8 soEgE & S-ane aiTeE
F1 IFTE 1.878x 104 1 F H1 5991
T B

9.1x10 3 kg
9.7 %1028 kg

12x10-2 kg
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27
40503639058, +8* 107" kg

In a hydrogen atom the electron makes a
transition from (n + 1) level to the n
level. If n>>1, the frequency of radiation
emitted is proportional to :

=

T BIEEISF TWHY] Telag[ (n+ 1)1 %= 3
nt' Tl |G g1 AT n>>1 A @ Al
fafeTo =1 srgfa f =1 9 9 fFas g
Bt 2

=
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40503639060. 1

In the following digital circuit, what will
be the output at °Z’, when the input (A, B)
are (1,0), (0,0), (1, 1), (0, 1) :

& N —
A | P ey,
:' _\f_-
I vy
T e
|
Be | ) >—

0,1,0,0

0,0,1,0

11101
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fe@md T %= 99g (digital circuit) H ‘7’
T fria & WM 2 949 99 (A, B) & WA
(1,0), (0,0), (1,1) R (0,1) =:

A® B ¥ i) .
\_f_f
:' B

Be— [ ) /

0,1,0,0
0,0,1,0

11141

A potentiometer wire PQ of 1 m length is
connected to a standard cell E;. Another
cell E; of emf 1.02 V is connected with a
resistance ‘r’ and switch S (as shown in
figure). With switch S open, the null
position is obtained at a distance of 49 cm
from Q. The potential gradient in the

pntentic-meter wire is :

Ey
|1
II
IJ .]-
r1 Q
MWy BG
E'_r_/._—li
2§
00T V/cm
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40503639068, 002 V/cm

0.03 V/cm

0.4 V/cm

TF WEfTEMRE F R PQ H TS 1 m ®
AR 59 UF AFF Tl E, F T W= T2
1.02 V ToR@-ams 9« a5 u# gal dd E,
%I UF A0S 1 91 U 9 S 9 faagan
Wre T ¥ W fEE S gen @ T E
¥ fag =i fearfd Q 49 em & R 9 Sl
g1 wefyme & R § fawa yavm
(potential gradient) g

Eq

> ]
I : Q

*G

2 5

0.01 V/cm

0.02 V/cm

0.03 V/cm

0.04 V/cm
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Question Number : 21 Question Id : 40503610726 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A pa_rticle of mass m is moving, along the

x-axis with initial velocity y ';". [t collides
elastically with a particle of mass 10 m at
rest and then moves with half its initial

kinetic energy (see figure). If

sinf; = v/nsinf, then value of n is

5 to0 5.002

Question Number : 21 Question Id : 40503610726 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

TEHM m F1 UF H -G T AR F 97

ui TETEE | TR EEEA 10 m ¥ FawrmEn
H T BU UF FU Y FoARY THH Al & 3N
il | g ¢ (fe= 3@) | 3fg

.:-:inﬂl = x.'{Esinﬂz AnFAHAE I
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Question Number : 22 Question Id : 40503610727 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A square shaped hole of side | = % is

carved out at a distance d = i from the
2

centre ‘0 of a uniform circular disk of
radius a. If the distance of the centre of

mass of the remaining portion from O is

a : ;
=X value of X (to the nearest integer) is

e
-

|
:

Q.

....{“*{

Il
o
S
2

p

5t0 5.002

Question Number : 22 Question Id : 40503610727 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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Ta A TF R T F =0 d d = %

gﬁm;f:%ammﬁmﬁw:%am

W g1 AfE 79 g fel W Hefa-F= O |
—%qﬁmﬁlﬁxmw?ﬁﬁmm%

5t05.002

Question Number : 23 Question Id : 40503610728 Question Type

Correct Marks : 4 Wrong Marks : 0

A wire of density 9x 10 3 kg cm 3 is
stretched between two clamps 1 m apart.
The resulting strain in the wire is
49x10~% The lowest frequency of the
transverse vibrations in the wire is
(Young’s modulus of wire Y=9x 1010

Nm ~2), (to the nearest integer),

www.FirstRanker.com

: SA Display Question Number : Yes
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Question Number : 23 Question Id : 40503610728 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

9x1073 kg cm™3 U & TH TR I
HiEFt 1 12T g W ol 31 Foog W F9
fon o 31 59 SR AR § 3o fasfa
(strain) 4.9x10-% %1 39 feafq § au &
AT oA 1 e smgf & e
ol feRa O (AR F AN NS w1 AE
Y=9x%101" Nm~2) |

5 to0 5.002

Question Number : 24 Question Id : 40503610729 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

An ideal cell of emf 10 V is connected in
circuit shown in figure. Each resistance is
2 (). The potential difference (in V) across

the capacitor when it is fully charged is

AAAAAAA ||
[

'-.'.'\'.'.H
Ry ._.:|_, ¥ ‘f_|'f
0 Ry= =~
2“‘*_ |{5f__‘_
\.'R!?:'H\ -:--F i,l,f.".\rff
|'i'|' .'i!..' illll'.ll'|
A Ry
|
|1
10V
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Question Number : 24 Question Id : 40503610729 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

T 10 V foea-ans 9@ & ey @9 5

eeaR wh uftas # e T g | 56 ued

H o gl &1 /F 20 ¥ 39 ferfa §

59 Hf quf w9 § afem @ 9= W@ 39w

&= favarm (Vv #) 2

o I
|

[ARRRRAAR]
R, = © |
I Ry *—':‘:
2= : R-— :_‘:
+J'|'Ilr|l|l \II .'Il ’_l_':IIf‘\IInII'..J'liII'.
i R4
||
10V
510 5.002

Question Number : 25 Question Id : 40503610730 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A light ray enters a solid glass sphere of

refractive index -p. =3 atan angle of
incidence 60°. The ray is both reflected and
refracted at the farther surface of the sphere.
The angle (in degrees) between the
reflected and refracted rays at this surface
is

www.FirstRanker.com
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Question Number : 25 Question Id : 40503610730 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

w= 3 T THH 60° ZATafad 07 =10 g0 U
e T WEfdd AR 99 | SATatad o 2t 2 |
THt e ¥ wafda 9 safda fFo & 9=

T AT 191 o F2ul | AE B _

5t05.002

Chemistry
Section Id : 405036389
Section Number : 2
Section type : Online
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Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
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Sub-Section Number : 1
Sub-Section Id : 405036745
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 40503610731 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The results given in the below table were
obtained during kinetic studies of the

following reaction :

2A+B - C+D

A T
I 0.1 01 | 6.00%x10~3
11 0.1 02 | 240x1072
I 0.2 01 | 1.20x1072
\Y X 02 | 720x10"2
V 0.3 Y 2.88x1071

X and Y in the given table are respectively :

04,04

04,03

03,03

03,04

frrfafaa wfafsr & 1fas a9 ¥ SrA
= AR | f53 T 9o 9T gv -
2A+B -5 C+D

A B e
ST m[{}l[]_.f_ 1 mildf—l molL ™! ?‘r-{'l‘:rn -1
I 0.1 0.1 6.00%x 1073
11 0.1 0.2 2.40x10~2
11 0.2 0.1 1.20x 102
IV X 0.2 7.20x 102
V 0.3 Y 2.88x1071

ST E 90 H X aa Y HA9: ¢ ¢
www.FirstRanker.com
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Options :

40503639076, -4 04
04,03
03,03
03,04

Thesizeof a raw mango shrinks toa much
smaller size when kept in a concentrated
salt solution. Which one of the fcrllowmg

processes can explain this ?
Dialysis
Diffusion
Osmosis

Reverse osmosis

T T A T 9% @90 & fqaad §
T € A SHH WS fAFe =W 98T F9 A
S E | A Tl T e W S
S RO I A1 S Gl & 7

-

7
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40503639081, THHIM

TE

S H YIHL

Amongst the following statements
regarding adsorption, those that are valid
are :

(a) AH becomes less negative as

adsorption proceeds.

(b) On a given adsorbent, ammonia is

adsorbed more than nitrogen gas.

(c) On adsorption, the residual force
acting along the surface of the

adsorbent increases.

(d) With increase in temperature, the
equilibrium concentration of

adsorbate increases.
(a) and (b)
(b) and (c)
(c) and (d)

(d) and (a)

www.FirstRanker.com
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A ey i T T sy g

HW%‘T!?%
(@) S S Al 2 € AH %1 9H
T FUHF 2l Sl 2

(b) T fad 73 srfuvie W, AEdeE ™
=1 Y A F A9 AfF
A

(c) ey 2 W, Afeies & I= &
Y F1H FH FIel SEEE 99 98 S

(d) i:ﬁqaﬁm, Afereied =1 W A=
o g
(a) T (b)
(b) T (<)
(c) =T (d)
(d) T (a)

The molecular geometry of SF, is
octahedral. What is the geometry of SF_,__
(including lone pair(s) of electrons, if any)?

Square planar
Pyramidal
Tetrahedral

Trigonal bipvramidal

www.FirstRanker.com
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Question Number : 29 Question Id : 40503610734 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
SF, ! Af0ge Al Aewesd 1 SF,

Tl ST (GeTEeFI & Uhe JrE(Hl) % Tieq,
afS G §) FAME?

o FHAA

e

ey fpfofast

The number of subshells associated with

n=4 and m= —2 quantum numbers is :

16
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e AT n=4 9 m= — 2 & 919 Tgari
YRR F1 = &

16

Match the type of interaction in column A
with the distance dependence of their

interaction energy in column B :

A B

g i 1

(I) ion-ion (a) z
1
(IT)  dipole - dipole (b) —=

(I) London dispersion  (¢) 3

d &

(D-(a), (I)-(b), (T)-(d)
(D-(@), (M)-(c), (M)-(d)
(D-(b), (I)-(d), (II)-(c)

(D-(a), (0)-(b), (I)-(c)

www.FirstRanker.com
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Question Number : 31 Question Id : 40503610736 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

FHTH A & FALAFA F THE H FoH B H
Ih AR T w g A & e
gHferd Hifaa ;

A B
1

() -3 (a) =
1

() Tey=-feya (b) =
(IIT) FeA-qfego (c) r%
1

4 =

(D-(a), ()-(b), (TI)-(d)
(D-(@), ()-(c), (TI)-(d)
(D-(b), (T)-(d), (TI)-(c)

(D-(@), (I)-(b), (T)-(c)

Three elements X, Y and Z are in the rd
period of the periodic table. The oxides of
X, Y and Z, respectively, are basic,
amphoteric and acidic. The correct order

of the atomic numbers of X, Y and Zis:

www.FirstRanker.com
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40503639100, X <Y <Z
FeyaX
XeZ<X
YeXeFk
T T X, Y T91 Z 0ed 9o & Jaid SAEaes
HE1 X Y 991 Z =1 H9Ees FA99: 964,

SHAH! 991 ARAE E1 X, Y T41 Z & T
T 1 WE HE

X<Y¥Y<Z
E=Y=X
A=sLZ=Y

T=R=0

Cast iron is used for the manufacture of :
wrought iron and steel
wrought iron and pig iron

pig iron, scrap iron and steel

www.FirstRanker.com
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40503639107, Wroughtiron, pig iron and steel

Tl ©ilg 1 fFa® Iqre % fow 39gm |
AT S & 2

firza wirer a1 5o
firzdl iiel a1 &= @il
=1 AR, TR EE a4 T

fyzal =irE1, F=01 =el 991 39

If you spill a chemical toilet cleaning liquid

on your hand, your first aid would be :

aqueous NaOH
aqueous NH,

aqueous NaHCD3

vinegar
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9 1 I 219 T o €, 1 ST g
Wﬁl‘ﬂ:

e NaOH

it NH,

Seftd NaHCO,

e EEal

Two elements A and B have similar
chemical properties. They don’tform solid
hydrogencarbonates, but react with
nitrogen to form nitrides. A and B,

respectively, are :

Na and Rb
Na and Ca
Li and Mg

Csand Ba

www.FirstRanker.com
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4 9 A 991 B % WHM THEfE T E L 9
F Wy Afufera w0 AEEe A & 1 A a9l
B %H: T :

Na 941 Rb

Na a9 Ca

Li T Mg

Cs 91 Ba

The shape/structure of [XeF:]™ and
XeO,F,, respectively, are :

trigonal bipyramidal and trigonal
hip}rranﬁda]

pentagonal planar and trigonal
bipyramidal

trigonal bipyramidal and pentagonal
planar

octahedral and square p‘_ﬁ,rra_midal

www.FirstRanker.com
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[XeFs]~ 41 XeO,F, T SRR/ HTF FHHI:

e:

Fromaary fgfarfast qan e
gt

TIFHIUTT THAAE a9 SrEaaae
gt

Bragame fgfaefast qar T9=vi
HHAATT

HEFARIT a9l 91 ey

Simplified absorption spectra of three
complexes ((i), (ii) and (iii)) of M™" ion are
provided below; their A, values are
marked as A, B and C respectively. The
correct match between the complexes and

their .'kmax values is :

F

-

TP R i,

=

™ |

I".," P i _\\

[

1

1

1

i
A b

i

i

I

1

i

i

1

Absorption [

Amax  Amax Mnax
Wavelength (nm)

(i) [M(NCS)g]~6*m

(i) [MF](-6+n)

Giy  INMONEHY I

) ¥ T 1 a0

www.FirstRanker.com
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Options :

40503639120, @) B-(if), C-(iii)

A-(ii), B-(i), C-(iii)
A-(ii), B-(iii), C-(i)

A-(iid), B(1), C-(1i)

M"* S &% dF HEell ((i), (i) T4 (iii)) F
WIS A9 T T 53 T ¥ | SAF
Ny F AFT B A, B @41 C ¥ A9 faf=d

kel

iy
fh

Jal £ 1Y

|'Ii II". Bﬂ\' -'II i I|

| i \ ."Ili I'l, _I.-'I i \
AN AN

/ 1

L%
Eal

hmax_ }:'TE'IE!K) }*max
nim

()  [MNCS)g](~6+n)
(i) [MFg(~6+

(i)  [M(NH;)g]™
HFedl a9l h A, HE 6 |4rd HE gae
£

A-(1), B-(11), (1)

A-(ii), B-(1), C-(idi)

www.FirstRanker.com

A-(ii), B-(iii), C-(i)
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40503639123, £+ (i), B-(1), C-(iD)

The one that is not expected to show

isomerism is :
[Ni(NH,),(1,]
[Ni(NH;), (H0), ]
[Nifen) 3]?- *

[Pt(NH;),Cl,]

e Ush feen! THEaad Heiyid & ol e
T T

[Ni(NH,),CL]
[ Ni(NHE }-1(1-12@}2]2 :
[Nifen),]2*

[Pt{NH;),Cl,]

www.FirstRanker.com
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Arrange the fD]lDwing labelled h}rdmgenq
in decreasing order of a«:iu::l_it},F :

NO, C=C—(H),

b>c>d>a

c>b>d>a

b>a>c>d

c>b>a>d

freAferfiad craferd ereersHl &1 ST & 924
%9 H ®HAg HI1A0

NO, C=C—(H),
|

O-(H),

=

4H)-0 COO(H)y,

b>c>d>a

c>b>d>a

b=a>=>c>d

www.FirstRanker.com
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> - =
40503639131, €~ P>a>d

The major pmduct of the fDllDwing

reacton 1is :
OH conc. HNO4 + conc.
[ 13 H 25(.];1
NO,
OH
NO,

www.FirstRanker.com
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Question Number : 40 Question Id : 40503610745 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

frefafaa afafEn = 9= sae §
1 OH @i7g HNO, + 812
CHy L H,50,
| ;
I e
=" NO,

OH

H;C _NO,
e

~“No,

H;C. NO;,

NO,

www.FirstRanker.com
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The correct observation in the following

reactions is :
B ANl MRS gl gy, SEMMMiEETS
Cleavage reagent
(Hydrolysis)

Formation of red colour
Formation of blue colour

Formation of violet colour

Gives no colour

Frfatiaa syt 3 | Jgqo 2 .
W THAISHIHa G A fager A+E @rl“a%mq?,

(=T T )

GIGEUEICER
el T 1 =
T T T =
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Consider the reaction sequence given

below :
i S OH +Br....._.. (1)
H,0
rate = k[t-BuBr]
CHy
o . =
OH f/,L\ +HOH+Br=____(2)

Czl ISDI | HEC \\CI Ij.
=
rate =k[t-BuBr|[OH " |

Which of the following statements is true :

Doubling the concentration of base
will double the rate of both the

reactons.

Changi_ng the concentration of base

will have no effect on reaction (2).

Changmg the concentration of base

will have no effect on reaction (1).

Changing the base from OH® to

E'DR will have no effect on reaction

(2).

www.FirstRanker.com
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= fea ™ afafdEs sAF s W faan

EAEL
7 Br L N OH+BrS .. (1)
H,0 |
rate =k|[t-BuBr]|
CH,
OH® J\ +HOH+Br® ____(2)

N

rate =k[t-BuBr| [{)H6 ]
frafafad § @ =9 o w91 98 €7

G T HEal &1 A1 w4 W SE
sTtafeRastl =t &2 AT & S |

HR &1 H=dl Fl g8a T AR (2)
T IS GUE TR T2

T =1 WSl %l Fae I A9 (1)
T G 99E T8 TS|

o Fl D]—lef{ e{j[{ H Fee W
Sfufean (2) T I 99E & 92w

An organic compound ‘A" (CyHy50)
when treated with conc. HI undergoes
cleavage to yield compounds ‘B" and “C".
‘B’ gives yellow precipitate with AgNO,
where as ‘C’ tautomerizes to ‘D", ‘D’ gives

www.FirstRanker.com
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Options :

" “)0-CH,-CH=CH,
40503639144,

£ ‘-;_"-.

if\ ‘;;—CI l,—O—CH=CH,

R\

¢ H)—O0—-CH=CH-CH,

I :11
HC/ “-0-CH=CH,
\_;r

UF FEAS AqfTE A7 (CoH,,0) H 5=
g HI & 19 Afafwfaq 0 9 g,
S fage 2 & a9 AT B 99 ‘C T
2 F 1 ‘B AgNO, F T et T F1 SEa
ST 5 EF ‘C, D W SeEEtad e | D
HHNIHS AR G 3 &1 ‘A7 '
HFHal &

¢ —0-CH,—CH=CH,
i ":'-.
¢ Y%—-CH,—O-CH=CH,
\N—/
.I"I_:" ".1'-\
¢ H—0-CH=CH-CHj

www.FirstRanker.com
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HyC—~/  Y-0-CH=CH,
40503639147. h—/

The major product obtained from Ez_
elimination of 3-bromo-2-f lunmpentane
ig *

1|3T
Cl IBCT IZ—CIT—C”=CT I2

CH,CH,CH=C—F
CH,

Ilir
CH,—CH,—-C=CH—-CH,

I_.1
I
CH,-CH=CH-CH-CH,

3-AMH2-FAR=A & E,~ Tl | 9 q&a
TG © :

I|3T
Cl IBCT IZ—CIT—CH=CT I2
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CH,CH,CH=C—F
‘ |
CH,
40503639149, |

I?r
ETHB —CHE— C=CH —CH3

F
I
CH, -CH=CH-CH-CH,

Two compounds A and B with same
molecular formula (C;H,O) undergo
Grignard’s reaction with
methylmagnesium bromide to give
products Cand D. Products Cand D show

fnilowi_ng chemical tests.

Test C D
Ceric ammo-
nium nitrate |Positive Positive
Test
Turbidity Turbidity
Lucas Test obtained after| obtained
five minutes |immediately
lodoform Test |Positive Negative

C and D respectively are :

C=H,C-CH,~-CH,-CH, - OH;

D =H,C~CH,~CH~CH,
OH

www.FirstRanker.com
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C=H,C-CH,-CH,-CH,-OH ;
CH,
|
D=1 13L_—c|_—or ]
H
40503639153. iy
OH

I

C=H,C—CH,-CH—CH;;

CH,

I
D=H,C—C—OH

I

CH,

CH,

I
C=H,C—C—OH;

CH,
D =H,C~CH,~CH~CH,

OH

www.FirstRanker.com
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S AfTF A a1 B foet snifvass 99 (C,H,0)
HqF g, Afgerr=itaad smee F Wy i
HAffF 3% I C 991 D 24 1 3dE
C a1 D Trefafaa Tt wiem <d €

qLiE e D

Afer sifEm
CIERCA S

HhATHs | HhHEITH=R

5 fie = =g | _. y
e wlteor | anifecrar o
i i wifea

HATATEFH 089 |  TFATHF TRIcH

C a9 D FA9: & :

C=H,C-CH,~-CH,-CH, - OH;
D=H,C—CH,—CH—CH,

I
OH

C=H,C - CH,—-CH,-CH,-OH ;
CH,
I

D=1} 13[_—[_—(31 |

I
CH,

OH
C=H,C—CH,—CH—CH,;
D=H,C—C—OH

I
CH,

www.FirstRanker.com
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CH,

|
C=H,;C—C—OH;
|
CH,

D=H,C—CH,—CH—CH,
40503639155 OH

The work function of sodium metal is

441 %107 Y ]. If photons of wavelength

300 nm are incident on the metal, the

kinetic energy of the ejected electrons will

be (h=6.63x10"34 ] s; c=3x10% m/s)
x10-21 7.

5t05.002

Question Number : 46 Question Id : 40503610751 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

HifeTm oIg F FEEEA 441x10°19] )
Ifg oI T TS 300 nm F HEA A6
B4 €, 1 Seeifaq seraeldl &1 e e
x 10 H]E?Fi)il
(h=6.63x10"3 ] s; c=3x10% m/s)
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5 t0 5.002

Question Number : 47 Question Id : 40503610752 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The heat of combustion of ethanol into

carbon dioxids and water is —327 kcal at

constant pressure. The heat evolved

(in cal) at constant volume and 27°C (if all

gases behave ideally) is (R=2 cal mol !

K1)

5t05.002

Question Number : 47 Question Id : 40503610752 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

R 2@ W A &1 FHET SEAFEEE a9

9d 8§ 2T F1 FT —327 keal T

fer smEa o 27°C W (3fg | T

WA AR §) Sered S (cal H) #

(R=2cal mol~1 K1) |

5 to0 5.002

Question Number : 48 Question Id : 40503610753 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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For the disproportionation reaction
2 Cu*(aq) = Cu(s)+Cu®*(aq) at 298 K,
In K (where K is the equilibrium constant)

is x 101,
Given :

(E° . =016V

( Cu™* /Cu™ :

EY ., =052V

Cu™ /Cu

<

— =0.025)

F
5to0 5.002

Question Number : 48 Question Id : 40503610753 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

298 K 9 3 A4 2 Cu* (aq) =
Cu(s) +Cu?*(aq) ¥ fIW In K ¥ (V& K
aefERiE ?)  x107 1

WW%:

(E =0.16 V

1]
ot fCut

.0

5 to 5.002
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The oxidation states of transition metal
atoms in KQCrzD?, KI*»'IIT!L:II'_1 and KzFeD_,‘,
respectively, are x, y and z. The sum of x,

yam:lzis

5 to 5.002

Question Number : 49 Question Id : 40503610754 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

K,Cr,0-, KMnO, 741 K,FeQ, H HHHUI 4Tg
TS F S SEE A x, y
Tz E1 x, y Tz AT E r

5 to0 5.002

Question Number : 50 Question Id : 40503610755 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The ratio of the mass percentages of 'C &

H' and ‘C & O’ of a saturated acyclic

organic compound ‘X" are 4: 1and 3 : 4

respectively. Then, the moles of oxygen

gas required for complete combustion of

two moles of organic compound ‘X’ is

www.FirstRanker.com
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Possible Answers :
5 to 5.002

Question Number : 50 Question Id : 40503610755 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

TF G S HEEE A K

‘C & H' @91 ‘C & O’ =i Hefd wiaeraansdi =

FAME FEAT: 401 G304 T A FEAw

e X' % A Al F weq TE w forg

HAlRdToH T4 F ATvaIH A & |

510 5.002

Mathematics
Section Id : 405036390
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036747
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 40503610756 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Let f: R— R be a function which satisfies
flx+y)=f(x)+fly) vx,yeR. If f{1)=2and
. (n=1J)

gn)= Z J'r':k}, n € N then the value of
k=1

n, for which g(n)=20, is :

20

HA TF B f: R—R, Td®F v, ye R &
fC f(x+y)=f(x) +f(y) F1 Fq= F7@ 2

(n-1)

Atz (=2 7 8= 2 f(N) neN %

k=1

ﬁnﬁﬁmmmg(n}=2ﬂ%%:

20

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Let f(x) be a quadratic polynomial such that
f(—1)+ f(2)=0. If one of the roots of f(x) =0
is 3, then its other root lies in :

(=3 -1)
(=10
(0, 1)

(1,3)

AT f(x) U fguma agus € fows fag
f(~1)+f2)=0%1 AT f(x) =0 & TF a1 3
=, @ g0 ge fe | 9 T save o feom
€?

(=3 -1)

(—=10)

(0, 1)

(1,3)

The imaginar}r part of

-{3 +2@]]2 - (3 —2@)'? can be :

www.FirstRanker.com
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6

(3+2J758) 7 - (3-2454) 2 =
FIEfT 9T 2 TRl €

Let a, b, c € R be all non-zero and satisfy
a’ + b’ +c*=2. If the matrix

satisfies ATA=T, then a value of abc can
be :

www.FirstRanker.com
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03 | =

40503639173.

| =

3| k2

M a, b, c € R 791 T 1919 & 3R

@ +b+ =2 w Hgw = &1 Afe A=gw

. a b c

A=[b ¢ a| ¥ty ATA=I%, dabc
b

¢ a

T HH 2 Tl € ;

1
3

| =

W | K
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Let A={X=(x, y, z)T : PX=0 and

|
x2+12+2z2=1},where P=|-2 3 -4|,
1 5]

then the set A :
is an empty set.
is a singleton.
contains exactly two elements.

contains more than two elements.

% A={X=(x, y, z)T : PX=0 TN

1
PP +2=1)FaF P=|-2 3 -4|F
A
e T T )
T & H=a9 el 9= 2

HAE S SAFaa B

¥ 2 Y AfgF =939 B
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Correct Marks : 4 Wrong Marks : 1
Letn > 2 be aninteger. Suppose that there
are n Metro stations in a city located along
a circular path. Each pair of stations is
connected by a straight track only.
Further, each pair of nearest stations is
connected by blue line, whereas all
remaining pairs of stations are connected
by red line. If the number of red lines is 99
limes the number of blue lines, then the

value of nis:
201

200
101

199

HME n > 2 UF YONF & 41 U e § n H
wyH € W U IER 99 W fon €)1 g
ﬁﬁﬂqﬁﬁﬁ%ﬂrmk}ﬁﬁ%“ﬁ%!
(Blue Line) ¥ T2 371 9i 31 =2¥MH 1 @A
(Red Line) ¥ W12 MU &1 Afe T2 @E =i
AT =] TS 1 HEA F 99 TN F, i n
HFI%:

201

200

www.FirstRanker.com
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40503639184, 199

If the sum of first 11 terms of an A.P., a;,
is 0 (a;z0), then the sum of the

Ay, Aa, ..
AP, Ay, Ay, Agy wury Apq is kal, where k is
equal to :
2
10
7
5
_1n
10
_n
5

afz AP, a,, ay a, .. & UIH 11 T&I
ITRA 0 (a,z0) T @R AP, a, a, a, ..,
ays, 1 ATTHA ka, €, @ k =T

121
10

7
5
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40503639187. 10

Let S be the sum of the first 9 terms of the
series :

[x +ka}+ {x2+ (k+2)a} + {x3 + (k + 4)a}
+{x*+ (k+6)a} +... where a=0 and
210 x4 45a(x-1)

x—1

x+1. FS=

,then k

is equa_l lo -

T Foft

[x+ka}+ {x2+ (k+2)a}+ {2 + (k + 4)a}
+ x4+ (k+ 6)a)} + ... T WIH 9 IS} =1 AFTHA
SFHEE, a2 =0 T x 21 &1 A

1

k: [ s .
5:1 1+4153[1 1) %,T‘ITI{W%:
_'1'_
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40503639189, 2

—3
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40503639196, €

The equatir:m of the normal to the curve

y=(1+ x}23f+cr:-52(sin TI} atx=01s:
x+4y=38
y=4x+2
yt+4x=2

2yt+tx=4

x=0 T, TF y=(1+x)% + cos?(sin~ 1x) T
i U e = THE

x+4y=38
y=4x+2
yt+4x=2

2yt+tx=4
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Let f: (—1, @) = R be defined by f(0)=1

and f(x) =

function f:

L1 log. (1+x), x #0. Then the
x

decreases in ( —1, 0) and increases in
(0, =).

increases in (— 1, 0) and decreases in
(0, =).

increases in (—1, «).

decreases in (—1, =).

afg f: (-1, =) = R, f(0)=1 a4l

f(x)= Llog, (1+x), x#0 BRI wheamfim 3

X
@ HeH f:

(—1,0) H FEAFR T A0, =) H FAM
Z

(—1,0) H FaH T4 (0, ) H FHAA
I

(—1, o) | FHHH T

(—1, ) | FH9H 1
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Consider a region R={(x, y) ¢ R?:
x? =y = 2x}. If aline y =« divides the area
of region R into two equal parts, then which
of the following is true ?

302 —Ba+8=0
B —602+16=0
302 —8a3/2+8=0

o —6a/2—-16=0

TF FAR ={(x, y) e RZ: 22 = y = 2} W T=R
Fifw| AT TF WA W@ y=a, FAR F

= =

3 o o 0 et £ o S e e ot e S R e e

FA-AHT 87
302 —8a+8=0
o3—602+16=0

32— 8a3/24+8=0

a®—603/2-16=0
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If a curve y=f(x), passing through the
point (1, 2), is the solution of the differential

equation, 2vdy =(2xy +y?)dx, then f (%]

Y,

is equal to :
1+log.2

1-log.2

1 + ngEE

1+log 2

A TF =T, y=/(x), 73 (1, 2) F IH @
T TN ST THIH 2x2dy = (2xy +y2)dx,
FEA T, If%] TR T

T
1+log.2

_2
1-log.2

1 + ngEE

-1

I+10p.2
www.FirstRanker.com
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Question Number : 64 Question Id : 40503610769 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The set of all possible values of 8 in the
interval (0, 7) for which the points (1, 2)
and (sin®, cosf) lie on the same side of the
linex+y=1is:

FE (0, w) H 0 & | Hefaa qgei &
=g, faas fau g4 fag, (1, 2) @
(sinf, cosB), Ui @l x +y=1 _EFWE?H'{'F
femd, 2
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s

03)

40503639215.

ra | =

The area (in sq. units) of an equilateral
triangle inscribed in the parabola > =8z,
with one of its vertices on the vertex of this

parabola, is :

643
12843

19243

25643

P2=8x F Y W T, Wae@ & iaid @i
T E | S 1 EERe (T A ) €
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40503639219. 1924/3

25643

For some 0 € ({}, E] , if the eccentricity of

the hyperbola, x>~ y* sec’ =101is . J5 times
the eccentricity of the ellipse,

r2secah + y2= 5, then the length of the latus
rectum of the ellipse, is :

ﬁsﬁae[n, ;] % fau, afz sAfqwees,

x2—yZsec20=10 H1 It =ql, =T,
x?sec’ +y?=>5 ﬁwmﬁ T"I'I%,?ﬁ
12 s e 2 1 2 i | s 51 EA A
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Options :

40503639221, 26

V30

5

3

2.5

3

A plane passing through the point (3, 1, 1)
contains two lines whose direction ratios
are 1, —2,2 and 2, 3, —1 respectively. If
this plane also passes through the point
(a, —3, 5), then a is equal to :

10

—10

www.FirstRanker.com
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fag (3,1, 1) 9 29 9H Al 99aa | @
W%@fﬁﬁﬂﬂ%ﬁﬁﬁiﬂjﬁlﬂ(dﬂ&ﬁnn
ratios) FAW: 1, —2,2 A912,3, —1 &1 4fg
I T T8 (o, — 3,5) W A ST A, A
um%:

10

- 10

Let E- denote the complement of an event
E. Let E;, E; and E; be any pairwise
independent events with P(E,) > 0 and

P(E; NE, M E;)=0. Then

P[Eg r".E;: fEl} is equal to :

.P{Eg] + P(Es)
P(ES ) - p(ES)

P{h({} ~ P(E,)

P(E3) — P(ES

www.FirstRanker.com
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

HME EC W21 E &1 [ 1 Afg #E dF
e E,, E, @41 E; T ¥ @ & aon
P(E,) > 0 #H1T P(E; NEynE;)=0, i

.P{Enggfﬁl} T E
.P{Eg] + P(E)
P[IJ;] - P(ES)
P{EH - P(E,)

P(E3) — P(ES

If the equation cos*d + sin?® + A =0 has real
solutions for 6, then A lies in the interval :

k3 | L

www.FirstRanker.com
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Question Number : 69 Question Id : 40503610774 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gfe FHIH cos?0+sin0+A=0 F 0 H

arfas g B, o A = § 9 fea swaoe
fede?

B

2]

E !

-5 )
L 4

23 _5

x* 4]

Which of the following is a tautology ?
(P—=@nrg—p)
=p)Alpva)—g
(~q)v(prg)—q

q=pv~pP—=9)
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Question Number : 70 Question Id : 40503610775 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

=1 5 0 F9 o1 we Aia g 7
(P—=q)~(q—p)
~p)A(pvq)—q
(~q)v(paq) —q

q=p)v~(p—=q)

; 5T

1
 fE i
! x)

For a positive integer n, 15

expanded in increasing powers of x. If
three consecutive coefficients in this
expansion are in the ratio, 2 : 5 : 12, then

n is equal o

5 to 5.002

Question Number : 71 Question Id : 40503610776 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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1] = f R - [
T& ¥4 YUl n & fog, 11+1J il x Hl
\ X

=l =i § GHIE T T 21 AfE TH wER
T 1 FHETT O T FIE, 2:5: 12 F, T
n FE 8 |

5t05.002

Question Number : 72 Question Id : 40503610777 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

ﬁ P
I y= E. k cos ! thcnsk:r - isin k.’l'l' ’
k=1 4 . J

Y ;
then — atx=01is
dx

5 t0 5.002

Question Number : 72 Question Id : 40503610777 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Ay =3 keos? {3 TN
y= » kcos {:cﬂski‘ — —sinkx¢,
- 5 5 J

. d
Fﬂx=ﬂ‘ﬂd—y F1 TF 2
X
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5 to 5.002

Question Number : 73 Question Id : 40503610778 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Let the position vectors of points ‘A" and

Wbe (3 j4k mnd 21 45438,
respectively. A point ‘P’ divides the

line segment AB internally in the ratio
A:1 (A >0). If Ois the origin and

— — — — |2
OB - OP —H‘OA XOP‘ — 6, then A is

equal to

5 t0 5.002

Question Number : 73 Question Id : 40503610778 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

T fag3di ‘A’ a1 ‘B’ % feafa afew e
P+ kAM2i 443k ¥ TR
P, 7E WS AB &I 31: SIE A:1(A>0) |
fawfaa #wa 21 afs O g& fag & @

.

— — — — |2
DB~0P—.’%‘0A xor*‘ =S
AT

5 to 5.002
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Correct Marks : 4 Wrong Marks : 0

Let [t] denote the greatest integer less than

or equal to t. Then the wvalue of

If|21‘ — [3x]| d is

5t05.002

Question Number : 74 Question Id : 40503610779 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Ife [t] TeTH % < t &, o

jf|2x—[3x]|dx F1 HE AT @

5 t0 5.002

Question Number : 75 Question Id : 40503610780 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the variance of the terms in an increasing,
A.P., by, by, bs, ...., byy is 90, then the
common difference of this A.P. is

W
s
P

W
P
P
\$}
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Question Number : 75 Question Id : 40503610780 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

I by, by, by, ..., by, TH AT ALP. T 3R
THF a1 1 GE 90 ®, A1 39 A.P. 1 9
IR E |

5 t0 5.002
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